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Figure S1. Comparison of the Grimm total count of bins 0.5 and greater compared to the Dylos small bin for ARD.
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Figure S2. Comparison of the Grimm mass conversion to the Dylos small bin mass conversion for ARD.
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Figure S3. Comparison of the average gravimetric inhalable concentration to the Dylos small bin mass conversion for ARD.
[image: image4.png]y=1.171x+0.261
R?=0.726

y=1.495x+0.867
R?=0.686

687x+1.334
R?=0.177

W Dylos 1 Large

@ Dylos 2 Large

ADylos 3 Large

0.10 0.20 0.30 0.40 0.50 0.60 0.70

Respirable mg/m3




Figure S4. Comparison of the average gravimetric respirable concentration to the Dylos (small minus large bin) mass conversion for ARD.

[image: image5.png]Dyl0s e cOUNt/L.

180000

160000
140000
120000
100000
80000
60000
40000
20000
0

y=0.214x+41,285
R? =0.640

y=0.320x+111,681
R?=0.458

y=0.203x+115,284
R?=0.184

50000

100000
GRIMM count/L

150000

200000

EDylos 1
@ Dylos 2

ADylos 3




Figure S5. Comparison of the Grimm total count of bins 0.5 and greater compared to the Dylos small bin for aluminum oxide.
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Figure S6. Comparison of the Grimm mass conversion to the Dylos small bin mass conversion for aluminum oxide.
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Figure S7. Comparison of the average gravimetric inhalable concentration to the Dylos small bin mass conversion for aluminum oxide.
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Figure S8. Comparison of the average gravimetric respirable concentration to the Dylos (small minus large bin) mass conversion for aluminum oxide.

